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Cago=[A+B;]
6 Ostwaldcolours (o)
of maximum (m) C,g in
linear colour space Cyg 5. Y)
Ilumin. Q00, ¥,,=100 Y,=0 5B
Name Range X, Yy 2, X, ¥ Ay A
R, 567_775 61,05 39.04 028 0.6081 0.3830 596 487.
Y, 492775 77.98 94.36 7.21 04343 0.5255570 462
G, 492 567 17.13 5552 7.16 0.2146 0.6956 535 585¢

C, 380567 37.07 61.15 118.9 0.1707 0.2816 487 536 Parameter:
B, 380_492 20.14 583 111.98 0.1459 0.0422 462 570 Y & Name
M, 567_492 80.99 44.67 1120303407 01879 5350535 .
567 4
W) 380775 97.93 1000 116.950.309 03155 1005 lluminant Q00
N, 380_775009 01 011 03089 0.3154 0% Y,,=100 Y, =0

7,380 7751762 180 2141 0309 03155 18%
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